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General Instructions to Candidates : 

 There is a ‘Cool-off time’ of 15 minutes in addition to the writing time. 

 Use the ‘Cool-off time’ to get familiar with questions and to plan your answers. 

 Read questions carefully before answering. 

 Read the instructions carefully. 

 Malayalam version of the questions is also provided. 

 

    15   ‘  ’  .  

 ‘  ’     
 . 

      . 

    . 

   . 
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PART – I  

A. Answer any 5 questions from 1 to 9. Each carries 1 score. (5 × 1 = 5) 

 

1. The geographer who introduced the concept of Neo-determinism.  

 (A) Griffith Taylor (B) Amartya Sen 

 (C) Ritter (D) Humboldt 

 

2. Identify the name of the geographer who defined Human geography as the study of the 

changing relationship between the unresting man and the unstable earth.   

 (A) Vidal de la Blache (B) Ratzel 

 (C) Ellen C. Semple (D) Griffith Taylor 

 

3. The slash and burn agriculture in North-eastern states of India 

 (A) Ladang (B) Milpa 

 (C) Viticulture (D) Jhuming 

 

4. A primitive subsistence activity in which the herders rely on animals for food, clothing 

and shelter 

 (A) Commercial livestock rearing (B) Nomadic herding 

 (C) Co-operative farming (D) Kolkhos 

 

5. Identify the Transcontinental railway that connects Halifax in the east to Vancouver on 

the Pacific coast. 

 (A) The Union and Pacific Railway (B) The Orient Express 

 (C) Trans – Canadian Railways (D) Trans – Siberian Railways 
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PART – I  

A. 1  9    5  .             

1  .  (5 × 1 = 5) 

 

1.        

 (A)   (B)   

 (C)    (D)  

 

2.       
     
.  

 (A)  ..  (B)  

 (C) ..  (D)   

 

3.        

 (A)  (B)  

 (C)  (D)  

 

4.   ,     
    

 (A)   (B)    

 (C)   (D)  

 

5.       
 .  

 (A)     

 (B)   

 (C)  –   

 (D)  –   
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6. A pull factor of migration 

 (A) Earthquake (B) Poverty 

 (C) Flood (D) Employment opportunities 

 

7. The leading manganese producing state in India 

 (A) Karnataka (B) Odisha 

 (C) Andhra Pradesh (D) Kerala 

 

8. The metal indispensable in the electrical industry 

 (A) Copper (B) Iron 

 (C) Bauxite (D) Manganese 

 

9. The stream of inter-state migration in India dominated by males.  

 (A) Rural – rural  (B) Rural – urban  

 (C) Urban – rural  (D) Urban – urban  

 

B. Answer all questions from 10 to 13. Each carries 1 score. (4 × 1 = 4) 

10. The High-tech industry which is regionally concentrated, self-sustained and highly 

specialised  

 (A) Basic industries (B) Technopolies 

 (C) Small scale industries (D) Cottage industries 

 

11. An environmental consequence of migration 

 (A) Air pollution (B) Poverty 

 (C) Unemployment (D) Population growth 
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6.      

 (A)  (B)  

 (C)  (D)   

 

7.        

 (A)  (B)  

 (C)   (D)   

 

8.      

 (A)  (B)  

 (C)  (D)   

 

9.        

  

 (A)  –  (B)  –   

 (C)  –  (D)  –  

 

B. 10  13    . 1  . 

      (4 × 1 = 4) 

10.      

   .  

 (A)   (B)   

 (C)   (D)    

 

11.      

 (A)   (B)  

 (C)  (D)   
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12. The leading producer of Sugarcane in India 

 (A) Kerala (B) Bihar 

 (C) Uttar Pradesh (D) Assam 

 

13. A major commodity which is imported to India 

 (A) Petroleum products (B) Ores and minerals 

 (C) Agro products (D) Cotton 

 

PART – II  

A. Answer any 2 questions from 14 to 17. Each carries 2 scores. (2  2 = 4) 

14. Define Density of population. 

 

15. Name the four pillars of Human Development. 

 

16. Mention any two problems of Indian agriculture. 

 

17. List any two sources of Water pollution. 

 

B. Answer any 2 questions from 18 to 20. Each carries 2 scores. (2  2 = 4) 

18. Classify the countries on the basis of the Human Development Index. 

 

19. What is Digital divide ? 

 

20. Write any two objectives of Drought Prone Area Programmes launched in India. 
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12.        

 (A)   (B)  

 (C)   (D)  

 

13.      .  

 (A)    (B)    

 (C)    (D)  

 

PART – II  

A. 14  17    2  .             

2  .   (2  2 = 4) 

14.  .  

 

15.     .  

 

16.       .  

 

17.      .  

 

B. 18  20    2  .             

2  .    (2  2 = 4) 

18.      .  

 

19.      ? 

 

20.        

.  
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PART – III 

A. Answer any 3 questions from 21 to 24. Each carries 3 scores. (3  3 = 9) 

21. What is meant by Trans-continental railway ? Give one example. 

 

22. List the indicators of economic attainment, selected for measuring HDI in India. 

 

23. Write the three cropping seasons in India. 

 

24. What do you mean by Water shed management ? Name a Water shed management 

project in India. 

 

B. Answer any 2 questions from 25 to 27. Each carries 3 scores.  (3  2 = 6) 

25. Write the three components of population change. 

 

26. Write a short note on the handloom section of the Cotton textile industry. 

 

27. Write any three objectives of the new Industrial Policy of India. 

 

PART – IV  

A. Answer any 3 questions from 28 to 31. Each carries 4 scores. (3  4 = 12) 

28. Write a short note on the geographical factors influencing the distribution of 

population. 

 

29. Prepare a note on the different rural settlement patterns, classified, on the basis of forms 

or shapes. 
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PART – III 

A. 21  24    3  .             

3  .   (3  3 = 9) 

21.      ?   .  

 

22.      

  .  

 

23.     .  

 

24.    ?     

.  

 

B. 25  27    2  .             

3  .   (3  2 = 6) 

25.     .  

 

26.         

.  

 

27.        .  

 

PART – IV  

A. 28  31    3  .             

4  . (3  4 = 12) 

28.        

  .  

 

29.      

    .  
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30. Distinguish between Ancient towns and Medieval towns with examples for each. 

 

31. Mention the advantages of Water transport. 

 

B. Answer any 1 question from 32 to 33. Carries 4 scores. (1  4 = 4) 

32. Prepare a note on occupational structure of population. 

 

33. The uneven distribution of national resources is one of the basis of international trade. 

Substantiate. 

 

PART – V 

 Answer any 2 questions from 34 to 36. Each carries 6 scores. (2  6 = 12) 

34. Briefly explain the characteristic features of commercial livestock rearing. 

 

35. Identify the four different phases of population growth in India and explain about any 

two of them. 

 

36. Identify the following geo informations and locate them in the given outline map of 

India : 

 Each carries 1 score     

 (A) The state which leads in the production of Bauxite in India. 

 (B) A Lignite field located in Tamil Nadu. 

  (C) A field based refinery in Assam. 

 (D) The steel plant set up in collaboration with U.K. in West Bengal. 

 (E) The northernmost industrial region in India. 

 (F) The Port known as the ‘Queen of the Arabian Sea’. 

_____________ 
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30.         
.  

 

31.    .  

 

B. 32  33     .  

4 .    (1  4 = 4) 

32.     .  

 

33.       
  ..  

 

PART – V 

 34  36    2  .             

6  . (2  6 = 12) 

34.     
.  

 

35.         
    .  

 

36.       
  : 

  1  .  

 (A)      .  

 (B)     . 

 (C)        
.  

 (D)         
 .  

 (E)      .  

 (F)    . 

_____________ 
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For Question No. 36 

 

 

Not to Scale 


